
𝑎 = ? = 4.53
𝑚

𝑠ଶ
⎯⎯

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑐𝑐𝑒𝑙𝑒𝑟𝑎𝑡𝑖𝑜𝑛 𝑜𝑓 𝑎 𝐹 =  75 𝑁 𝑜𝑛 𝑎 15𝑘𝑔 𝑜𝑏𝑗𝑒𝑐𝑡 𝑝𝑢𝑙𝑙𝑒𝑑 𝑎𝑡 𝑎𝑛 𝑎𝑛𝑔𝑙𝑒 𝑜𝑓 25଴ 𝑖𝑛 𝑑𝑖𝑎𝑔𝑟𝑎𝑚?

𝜃 = 25଴

𝐹௣ = 75
𝐹௫ = 𝐹௣𝑐𝑜𝑠𝜃

𝐹௫ = 75𝑐𝑜𝑠25
𝐹௫ = 67.97𝑁

                        𝐹 = 𝑚𝑎
               𝐹௫−𝐹௙ = 𝑚𝑎

        67.97 − 0 = 15𝑎

                         𝑎 = 4.53
𝑚

𝑠ଶ
⎯⎯

𝐹௣ = 75

+

𝑎 = ℎ𝑐𝑜𝑠𝜃
15

𝐹௚ = 𝑚𝑔

𝐹௚ = 15 × 9.8

𝐹௚ = 147 𝑁

FBD

𝐹௡ =  ? = 𝑁

𝐹௙ = 0𝐹௙ = 0

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 "𝑎" 𝑜𝑓 𝑎 𝐹 = 75 𝑁 𝑜𝑛 𝑎 15𝑘𝑔 𝑜𝑏𝑗𝑒𝑐𝑡 𝑝𝑢𝑙𝑙𝑒𝑑 𝑎𝑡 𝑎𝑛 𝑎𝑛𝑔𝑘𝑒 𝑜𝑓 25଴ 𝑎𝑛𝑑  µ = 0.2?  𝑖𝑛 𝑑𝑖𝑎𝑔𝑟𝑎𝑚.

𝐹𝐵𝐷

𝐹௡ = 𝑚𝑔 − 𝐹௬

𝐹௡ = 147 − 31.69
𝐹௡ = 115.3

𝐹௬ = 𝐹௣𝑠𝑖𝑛𝜃

𝐹௬ = 75𝑠𝑖𝑛25

𝐹௬ = 31.69

𝐹௙ = µ𝐹௡

𝐹௙ = 0.2(115.3)

𝐹௙ = 23.1𝑁

µ = 0.2

                        𝐹 = 𝑚𝑎
               𝐹௫−𝐹௙ = 𝑚𝑎

67.97 − 23.06 = 15𝑎

                         𝑎 = 2.99
𝑚

𝑠ଶ
⎯⎯

           𝐹 = 𝑚𝑎
𝐹௫ − 𝐹௙ = 𝑚𝑎

           𝑎 =
𝐹௫ − 𝐹௙

𝑚
⎯⎯⎯⎯⎯⎯

           𝑎 =
67.97 − 23.06

15
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

           𝑎 = 2.99
𝑚

𝑠ଶ
⎯⎯

𝐼𝑠𝑜𝑙𝑎𝑡𝑒 1𝑠𝑡

𝑎 = ? = 

𝜃 = 25଴

𝐹௫ = 𝐹௣𝑐𝑜𝑠𝜃

𝐹௫ = 75𝑐𝑜𝑠25
𝐹௫ = 67.97𝑁

𝐹௣ = 75

15

𝐹௙ = ? = 23.1𝑁

𝐹௣ = 75

𝐹௚ = 𝑚𝑔

𝐹௚ = 15 × 9.8

𝐹௚ = 147 𝑁

𝑜 = ℎ𝑠𝑖𝑛𝜃

Logic

Notice the 
length of the 
vectors!

Kind of Pointless

What takes less force to pull or push a lawn mower? Pull, because pushing loses force to the ground!
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